DZI

i Yoo
=

LT 1 8] (135 urandieas)ogzaipasu Ajpsaing | vOT
’ 0TESZ| 1 od W8T, W06 a8epueg | €01
0089T | 1 od WS, W0t adey aaisaypy | 7ot
06'6IT T od w3poy uono0o luequosqy [ 10T
90T | 1 od 38uuAs |lwoT | ot
g0Ov| I ad d3uLAs jwg mml
£8'p ¥ ad 9|P33u azned Tz yum a8uniAs jwg 86
0TwrI | 1 2d 2IP33u 3umnd dpIyleY Yum asmnsxjis o/ Mml
. Oov| 1 od SIP33U O TZyIm 38uLiAs s|qesodsiq jwis 96
000¥9T | T od HNPY suiydenduiydism S6
00 T ad udewes pyaying Iml
099€| T >d PeaJynys €6
0029T | T od (1en1810) J239wouniay) Z6
08'2Z| 1 d 9T°v7'72'0Z elnued) 16
0066S | T >d , adodsoyyals 06
008202 | T >d 15°d'g | | 68
099y | T 2d doJpjesou juig‘%T paujozerawAxg 88
088 1 ‘u) [4MyIm __m{msooﬁmcomﬁoUﬂmer L8
= ... . .H‘\:m 00°£2€ I fu | Jwppswnipos mEEu@@mi |i|m.w]
. 5 Z€'0g| 1| -uadsng Jws/ Sws py auizinay




